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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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06:45 273 150.0 2.583 (Z=| {Ri%e06:45 Bz (FAERHSE)
07:45 273 150. 0 2.583 | =| {Ri%e07:45 B (REZBE)
08:45 273 150. 0 2.583 |Z=&| 1BRi&e08:45 Bz (RAEREE)
09:45 273 150. 0 2.583 |Z=| {Ri&e09:45 Bz (REEHSE)
10:45 273 150.0 2.583 FA| {Ri%@10:45 Bz (GRAERE)
12:50 273 150.0 2. 583 FA| 1Bi%e12:50 B3 (KRAHEREE)
13:40 273 150.0 2.583 FE| 1BRi&@13:40 Bzh (GRAEREE)
14:25 273 150.0 2.583 FA| {Ri%@14:25 Bz (CGRAERESE)
15:10 273 150.0 2.583 FA| 1B2i%@15:10 Bzh (RA{ERSE)
16:30 273 150.0 2.583 FA| {Ri%@16:30 Bz (GkAEEE)
23+ 3003.0 (117%) 1650. 0 IFKEC: 2200, PH: 5.6

FRBIFE NS RFERPH 5.6, HTHERNASZIFESBIEPH, §F AR

#[EKECE (1760.0 vs 3887.0) d 5
HRENE Y S R IKEC 2200. 0




P3-5_0, Day=76 (2025-06-13)

150 A

100 A

50

1100 022
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-5

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

05:30 283 150. 0 2.583 FA| 1BRi%@05:30 B3zh (KAIEREEE)
06:30 283 150. 0 2.583 FE| 1Ri%@06:30 Bzl (KRS
07:30 283 150. 0 2.583 FH| 1RRi%@07:30 Bz (AR
10:40 283 150. 0 2.583 |Z=| {Ri&e10:40 Bz (GREAERSE)
13:10 283 150. 0 2.583 FE| 1Ri%e13:10 Bz (GREAERSE)
13:50 283 150. 0 2.583 FH| 1RRi&@13:50 B (RS
14:30 283 150.0 2.583 FA| {Ri%@14:30 Bz (GRAEEE)
15:20 283 150.0 2.583 |Z=| {Ri&e15:20 B (REEZBE)
16:30 283 150. 0 2.583 [ =| 1RiRe16:30 Bz (KAFEHE)
21t 2547.0 (9%) 1350.0 3EHKEC: 2200, PH: 5.6

FRBIFE NS RFERPH 5.6, HTHERNASZIFESBIEPH, §F AR

#[EKECZE (1803. 0 vs 4093.0) H 5
HRENE Y S R IKEC 2200. 0
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P3-5_0, Day=75 (2025-06-12)
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